



University of Mumbai, Mumbai  
OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] HELD IN Winter 2025 Result Declaration Date: 29 Dec 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
1039136	NAMDEV VINAYKUMAR RAJENDRA PRASAD - MANJU 2022016402194111 (47)Bhayandar-(890)	58651 40+	12+	52		FEC101 11+	11			58652 29+	10+	39		FEL101 13+	13			58655 13F	6+	19		FEL102 22+	22			Unsuccessful -- --			
		3.00	D	6.00	18.00	1.00	P	4.00	4.00	2.00	D	6.00	12.00	0.50	D	6.00	3.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	-- --			
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1039137	PARAB ADITYA NARAYAN SHALAKA 2023016402234394 (47)Bhayandar-(890)	58651 32+	16+	48		FEC101 13+	13			58652 27+	9+	36		FEL101 22+	22			58655 28+	8+	36		FEL102 21+	21			Successful 18.00 101.00			
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.61 --			
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
1039138	RATHOD YASH KETAN JIGNA 2022016402199417 (47)Bhayandar-(890)	58651 32+	8+	40		FEC101 16+	16			58652 24+	6+	30		FEL101 13+	13			58655 5F	6+	11		FEL102 21+	21			Unsuccessful -- --			
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	-- --			
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/0.5043A/0.5044A,\* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;  
 NULL-NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] HELD IN Winter 2025 Result Declaration Date:29 Dec 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
1039139	RAWAL HARSHIT KETAN MAYA 2023016402231496 (47)Bhayandar-(890)	58651 AA	10+	10		FEC101 --	18+	18		58652 20F	9+	29		FEL101 --	21+	21		58655 AA	10+	10		FEL102 --	21+	21	Unsuccessful -- --				
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	-- --			
		58653 AA	9+	9		FEL103 --	AA	15		58654 AA	10+	10		FEL104 --	11E	28		FEL105 --	23+	23									
		3.00	F	0.00	0.00	1.00	F	0.00	0.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	E	5.00	5.00								
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1039140	/ MALI PRAJAKTA PRAKSH PRAMILA 2023016402074025 (98)Bhoisar-(802)	58651 18F	8+	26		FEC101 --	19+	19		58652 28+	6+	34		FEL101 --	21+	21		58655 24+	8+	32		FEL102 --	20+	20	Unsuccessful -- --				
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 32+	12+	44		FEL103 --	18+	36		58654 40+	12+	52		FEL104 --	20+	39		FEL105 --	38+	38									
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00	1.00	A	9.00	9.00	1.00	A	9.00	9.00								
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1039141	KAMBLE OM PRASHANT VARSHA 2022016402189326 (2)Dadar-(522)	58651 0F	12+	12		FEC101 --	17+	17		58652 8F	8+	16		FEL101 --	21+	21		58655 24+	6+	30		FEL102 --	21+	21	Unsuccessful -- --				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 32E	16+	48		FEL103 --	19+	33		58654 39+	12+	51		FEL104 --	23+	42		FEL105 --	46+	46									
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,\* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] HELD IN Winter 2025 Result Declaration Date:29 Dec 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
1039142	JAGAKAR KALPAK MURLIDHAR MRUNALI 2023016400698684 (41)Guhaghar-(978)	58651 32+	11+	43		FEC101 15+	15			58652 35+	7+	42		FEL101 19+	19		58655 24+	7+	31		FEL102 17+	17			Unsuccessful -- --				
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	D	6.00	12.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --			
		58653 39+	8+	47		FEL103 19+	37			58654 24F	12+	36		FEL104 20+	32		FEL105 26+	26											
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	D	6.00	6.00								
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1039143	/ KRITIKA RESHMA 2023016402053683 (36)Karjat-(734)	58651 32+	11+	43		FEC101 20+	20			58652 24+	12+	36		FEL101 22+	22		58655 24+	11+	35		FEL102 24+	24			Unsuccessful -- --				
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --			
		58653 32+	14+	46		FEL103 19+	39			58654 14F	11+	25		FEL104 18+	34		FEL105 43+	43											
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1039144	/ KAMBLE ADITI MAHENDRA PRAGATI 2022016402259151 (36)Karjat-(857)	58651 32E	9+	41		FEC101 22+	22			58652 24+	8+	32		FEL101 18+	18		58655 24+	8+	32		FEL102 19+	19			Unsuccessful -- --				
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --			
		58653 14F	9+	23		FEL103 20+	41			58654 32+	11+	43		FEL104 19+	34		FEL105 40+	40											
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,\* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] HELD IN Winter 2025 Result Declaration Date: 29 Dec 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
1039145	RANE SHUBHAM HARESH HARSHADA 2023016402068597 (36)Karjat-(857)	58651 32	13+	45		FEC101 --	20+	20		58652 25+	8+	33		FEL101 --	18+	18		58655 24+	6+	30		FEL102 --	20+	20	Successful 18.00 110.00				
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	6.11 --			
		58653 34+	11+	45		FEL103 --	19+	37		58654 36+	14+	50		FEL104 --	22+	39		FEL105 --	43+	43									
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
1039146	GHAG VEDANT YASHWANT SARIKA 2023016401242022 (40)Khed-(742)	58651 32+	8+	40		FEC101 --	20+	20		58652 24+	6+	30		FEL101 --	16+	16		58655 26+	11+	37		FEL102 --	18+	18	Successful 18.00 106.50				
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	B	8.00	4.00	5.92 --			
		58653 61	10+	71		FEL103 --	17+	31		58654 32	10+	42		FEL104 --	13+	25		FEL105 --	43+	43									
		3.00	B	8.00	24.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
1039147	GORIVALE ATHARVA CHANDRAKANT RUPALI 2023016401247352 (40)Khed-(742)	58651 32+	8+	40		FEC101 --	10+	10		58652 24+	8+	32		FEL101 --	AA	AA		58655 24+	6+	30		FEL102 --	17+	17	Unsuccessful -- --				
		3.00	P	4.00	12.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	F	0.00	AB	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --			
		58653 23F	11+	34		FEL103 --	11+	22		58654 AA	10+	10		FEL104 --	12+	26		FEL105 --	20+	20									
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	P	4.00	4.00								
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] HELD IN Winter 2025 Result Declaration Date: 29 Dec 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
1039148	CHAUDHARY MOHD JAVED MOHD MUAZZAM - SHEHNAZ 2023016402104316 (1)Mumbai-(10)	58651 40+	8+	48	58652 16+	16	58653 34+	14+	48	FEL101 15+	15+	58654 32+	8+	40	FEL102 18+	18	58655 34+	9+	43	FEL103 21+	36	FEL104 32+	8+	40	FEL105 35+	35	Successful 18.00 103.00 5.72 --
		3.00	E	5.00 15.00	1.00	C	7.00 7.00	2.00	E	5.00 10.00	0.50	B	8.00 4.00	2.00	D	6.00 12.00	0.50	O	10.00 5.00	1.00	B	8.00 8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
1039149	GIRKAR MATINKHAN REHMAN SHAHEEN 2023016402076995 (1)Mumbai-(10)	58651 32+	11+	43	58652 6F	7+	58653 32+	8+	40	FEL101 15+	15	58654 19F	13+	32	FEL102 15+	15	58655 24+	6+	13	FEL103 16+	15+	FEL104 10+	10	FEL105 28+	28	Unsuccessful -- -- -- --	
		3.00	P	4.00 12.00	1.00	E	5.00 5.00	2.00	F	0.00 0.00	0.50	C	7.00 3.50	2.00	F	0.00 0.00	0.50	B	8.00 4.00	1.00	C	7.00 7.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																	
1039150	KHAN MOHAMMAD AFAQUE AMIR NASIM 2022016402428352 (1)Mumbai-(10)	58651 38+	12+	50	58652 29+	7+	58653 25F	8+	33	FEL101 10+	10	58654 32+	6F	38	FEL102 10+	10	58655 24+	6+	30	FEL103 11+	21	FEL104 10+	26	FEL105 28+	28	Unsuccessful -- -- -- --	
		3.00	D	6.00 18.00	1.00	P	4.00 4.00	2.00	E	5.00 10.00	0.50	P	4.00 2.00	2.00	P	4.00 8.00	0.50	O	10.00 5.00	1.00	D	6.00 6.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] HELD IN Winter 2025 Result Declaration Date: 29 Dec 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
1039151	KONDURKAR JITVAR RAMDAS RUCHITA 2022016402427913 (1)Mumbai-(10)	58651 8F		0F	8	FEC101  --	16+	16	16	58652  24+	7+	31	31	FEL101  --	14+	14	14	14	58655  26+	6+	32	32	FEL102  --	21+	21	21	Unsuccessful   -- --
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	3.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 32+	9+	41	41	FEL103  --	18+	34	34	58654 32+	8E	40	40	FEL104  --	21+	37	37	37	FEL105  --	38+	38	38	38	38	38	38	
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	8.00	1.00	A	9.00	9.00	9.00	9.00	9.00	9.00	
		Total Credit --				FINAL CGPI --				FINAL GRADE --				FINAL GRADE --													
1039152	PALANDE KSHITIJ ANIL ASHWINI 2022016402426032 (1)Mumbai-(10)	58651 AA	8+	8	8	FEC101  --	18+	18	18	58652  29+	11+	40	40	FEL101  --	16+	16	16	16	58655  24+	8+	32	32	FEL102  --	25+	25	25	ABS   -- --
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	2.00	D	6.00	12.00	0.50	C	7.00	3.50	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 AA	10+	10	10	FEL103  --	21+	45	45	58654  36+	12+	48	48	FEL104  --	18+	37	37	37	FEL105  --	37+	37	37	37	37	37	37	
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	8.00	1.00	B	8.00	8.00	8.00	8.00	8.00	8.00	
		Total Credit --				FINAL CGPI --				FINAL GRADE --				FINAL GRADE --													
1039153	SATHE HRISHIKESH BALU SUREKHA 2023016402113981 (1)Mumbai-(10)	58651 46+	5+	51	51	FEC101  --	11+	11	11	58652  27E	6+	33	33	FEL101  --	14+	14	14	14	58655  24+	8+	32	32	FEL102  --	15+	15	15	Unsuccessful   -- --
		3.00	D	6.00	18.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	3.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --
		58653 32E	11+	43	43	FEL103  --	12+	25	25	58654 32+	3F	35	35	FEL104  --	16+	28	28	28	FEL105  --	32+	32	32	32	32	32	32	
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	6.00	1.00	C	7.00	7.00	7.00	7.00	7.00	7.00	
		Total Credit --				FINAL CGPI --				FINAL GRADE --				FINAL GRADE --													

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] HELD IN Winter 2025 Result Declaration Date: 29 Dec 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
1039154	SHAH SHAMSHER KAMAR HAJRA 2023016402115295 (1)Mumbai-(10)	58651 16F 3.00 F	8+	24	0.00	FEC101 13+ 1.00 D	13	6.00	6.00	58652 32E 2.00 D	8+	40	12.00	FEL101 12+ 0.50 E	12	2.50	58655 24+ 2.00 P	7+	31	8.00	FEL102 22+ 0.50 O	22	5.00	Unsuccessful -- -- -- --					
		58653 39+ 3.00 D	14+	53	18.00	FEL103 17+ 1.00 C	31	7.00	7.00	58654 22F 3.00 F	9E	31	0.00	FEL104 20+ 1.00 C	33	7.00	58655 32+ 1.00 C	32	7.00	7.00									
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1039155	BHAGAT HARSH SACHIN SAYALI 2023016400751162 (76)Navi Mumbai-(428)	58651 32 3.00 P	9+	41	12.00	FEC101 17+ 1.00 C	17	7.00	7.00	58652 33+ 2.00 D	7+	40	12.00	FEL101 19+ 0.50 A	19	4.50	58655 24+ 2.00 P	8+	32	8.00	FEL102 23+ 0.50 O	23	5.00	Successful 18.00 99.50 5.53 --					
		58653 32+ 3.00 P	8+	40	12.00	FEL103 21+ 1.00 C	31	7.00	7.00	58654 32+ 3.00 E	17+	49	15.00	FEL104 20+ 1.00 C	31	7.00	58655 40+ 1.00 O	40	10.00	10.00									
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
1039156	CHAUDHARI DURVESH NILESH PALLAVI 2023016402505684 (76)Navi Mumbai-(428)	58651 6F 3.00 F	12+	18	0.00	FEC101 17+ 1.00 C	17	7.00	7.00	58652 2F 2.00 F	6+	8	0.00	FEL101 19+ 0.50 A	19	4.50	58655 29+ 2.00 E	8+	37	10.00	FEL102 20+ 0.50 O	20	5.00	Unsuccessful -- -- -- --					
		58653 22F 3.00 F	10+	32	0.00	FEL103 20+ 1.00 C	31	7.00	7.00	58654 36+ 3.00 E	12+	48	15.00	FEL104 19+ 1.00 B	36	8.00	58655 34+ 1.00 C	34	7.00	7.00									
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] HELD IN Winter 2025 Result Declaration Date: 29 Dec 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
1039157	DALVI RUDRA DEEPAK MAITREYEE 2022016402109606 (76)Navi Mumbai-(428)	58651 42E	12+	54	54	FEC101 17+	17	17	17	58652 19F	6+	25	25	FEL101 18+	18	18	18	58655 27+	9+	36	36	FEL102 25+	25	25	25	Unsuccessful -- --			
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --			
		58653 34+	13+	47	47	FEL103 21+	33	33	33	58654 53+	10+	63	63	FEL104 18+	36	36	36	FEL105 41+	41	41	41								
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	C	7.00	21.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1039158	DHONE KRISHNA DEEPAK SAVITA 2022016402088225 (76)Navi Mumbai-(428)	58651 7F	11+	18	18	FEC101 20+	20	20	20	58652 25+	6+	31	31	FEL101 21+	21	21	21	58655 26+	6+	32	32	FEL102 23+	23	23	23	Unsuccessful -- --			
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 34+	10+	44	44	FEL103 20+	30	30	30	58654 36+	8+	44	44	FEL104 24+	42	42	42	FEL105 42+	42	42	42								
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1039159	GAWADE KARYASH SAKHARAM SUIDHA 2023016400723073 (76)Navi Mumbai-(428)	58651 23F	8+	31	31	FEC101 15+	15	15	15	58652 12F	8+	20	20	FEL101 18+	18	18	18	58655 24+	6+	30	30	FEL102 22+	22	22	22	Unsuccessful -- --			
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 37+	15+	52	52	FEL103 18+	28	28	28	58654 32+	9+	41	41	FEL104 19+	39	39	39	FEL105 40+	40	40	40								
		3.00	D	6.00	18.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] HELD IN Winter 2025 Result Declaration Date: 29 Dec 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
1039160	GHARAT SAHIL VILAS RENUKA 2022016400887494 (76)Navi Mumbai-(428)	58651 32	12+	44		FEC101 18+	18			58652 24+	6+	30		FEL101 20+	20		58655 35+	9+	44		FEL102 24+	24		Successful 18.00 104.00					
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	5.78 --			
		58653 35+	12+	47		FEL103 20+	30			58654 32+	12+	44		FEL104 22+	43		FEL105 43+	43											
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
1039161	GULVI MOHIT PRAVIN GEETA 2023016400722754 (76)Navi Mumbai-(428)	58651 22F	8+	30		FEC101 14+	14			58652 3F	7+	10		FEL101 19+	19		58655 4F	8+	12		FEL102 20+	20		Unsuccessful -- --					
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	2.00	F	0.00	0.00	0.50	A	9.00	4.50	2.00	F	0.00	0.00	0.50	O	10.00	5.00	-- --			
		58653 32E	8+	40		FEL103 17+	27			58654 32+	13+	45		FEL104 17+	37		FEL105 35+	35											
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00								
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1039162	IDE PRASHANT TUKARAM SHAILA 2023016402505413 (76)Navi Mumbai-(428)	58651 24F	8+	32		FEC101 17+	17			58652 25+	6+	31		FEL101 20+	20		58655 24+	6+	30		FEL102 24+	24		Unsuccessful -- --					
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 32+	12+	44		FEL103 19+	29			58654 32+	11+	43		FEL104 21+	42		FEL105 38+	38											
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00								
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] HELD IN Winter 2025 Result Declaration Date: 29 Dec 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
1039163	/ MHATRE SHREEYA VILAS MHATRE 2022016402116966 (76)Navi Mumbai-(428)	58651 44	10+	54	18.00	FEC101 17+	17	17	7.00	58652 24+	6+	30	8.00	FEL101 15+	15	15	3.50	58655 24+	6+	30	8.00	FEL102 23+	23	23	5.00	18.00	106.50	5.92	--
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00				
		58653 38+	8+	46	15.00	FEL103 23+	37	37	8.00	58654 44+	14+	58	18.00	FEL104 20+	38	38	9.00	FEL105 34+	34	34	7.00								
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	D	6.00	18.00	1.00	A	9.00	9.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
1039164	MHATRE SWAYAM SUNIL PRANALI 2023016400722112 (76)Navi Mumbai-(428)	58651 AA	8+	8	0.00	FEC101 16+	16	16	7.00	58652 AA	6+	6	0.00	FEL101 18+	18	18	4.00	58655 24+	7+	31	8.00	FEL102 24+	24	24	5.00				
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00				
		58653 AA	10+	10	0.00	FEL103 16+	26	26	6.00	58654 AA	9+	9	0.00	FEL104 18+	34	34	7.00	FEL105 40+	40	40	10.00								
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1039165	/ MOGARE PRERNA SAMBHAJI CHHAYA 2023016400723042 (76)Navi Mumbai-(428)	58651 10F	8+	8	0.00	FEC101 10+	10	10	4.00	58652 14F	6+	20	0.00	FEL101 17+	17	17	3.50	58655 24+	6E	30	8.00	FEL102 23+	23	23	5.00				
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00				
		58653 13F	11+	24	0.00	FEL103 19+	31	31	7.00	58654 36E	8+	44	12.00	FEL104 13+	24	24	5.00	FEL105 31+	31	31	7.00								
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	E	5.00	5.00	1.00	C	7.00	7.00								
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/0.5043A/0.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] HELD IN Winter 2025 Result Declaration Date: 29 Dec 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
1039166	PATIL PRAJWAL RAJESH VRUSHALI 2023016400720241 (76)Navi Mumbai-(428)	58651 37+	8+	45		FEC101 15+	15			58652 28+	6+	34		FEL101 20+	20		58655 26+	6+	32		FEL102 24+	24		18.00	98.00		
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.44	--
		58653 32	9+	41		FEL103 20+	30			58654 32+	9+	41		FEL104 21+	33		FEL105 40+	40									
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	
1039167	PAWAR ROSHAN BABU ANUSAYA 2023016400730185 (76)Navi Mumbai-(428)	58651 24F	9+	33		FEC101 16+	16			58652 12F	8+	20		FEL101 21+	21		58655 24+	9+	33		FEL102 22+	22		--	--		
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	--	--
		58653 32+	12+	44		FEL103 19+	29			58654 36+	10+	46		FEL104 22+	37		FEL105 42+	42									
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	E	5.00	15.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00						
		Total Credit --				FINAL CGPI --				FINAL GRADE --																	
1039168	POKHARKAR DEVDATT SUHAS NILAM 2023016400720337 (76)Navi Mumbai-(428)	58651 32+	11+	43		FEC101 17+	17			58652 24+	7+	31		FEL101 19+	19		58655 29+	7+	36		FEL102 23+	23		18.00	93.50		
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	5.19	--
		58653 32	11+	43		FEL103 20+	30			58654 35+	8+	43		FEL104 20+	34		FEL105 38+	38									
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00						
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] HELD IN Winter 2025 Result Declaration Date: 29 Dec 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
1039169	RAMBADE PARTH RAVINDRA RIYA 2023016400720875 (76)Navi Mumbai-(428)	58651 32 3.00 P	10+	42	12.00	FEC101 18+ 1.00 B	18	18.00	8.00	58652 27+ 2.00 P	6+	33	8.00	FEL101 18+ 0.50 O	20+	20	5.00	58655 24+ 2.00 P	8+	32	8.00	FEL102 23+ 0.50 O	23	5.00	18.00 100.00 5.56 --	
		58653 32+	10+	42	12.00	FEL103 12+ 1.00 C	7.00	7.00	7.00	58654 49+ 3.00 D	10+	59	18.00	FEL104 23+ 1.00 O	43	10.00	10.00	FEL105 33+ 1.00 C	33	7.00	7.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
1039170	RANGANI VINAY GIGNA 2022016402117092 (76)Navi Mumbai-(428)	58651 32 3.00 P	8+	40	12.00	FEC101 16+ 1.00 C	16	7.00	7.00	58652 24+ 2.00 P	6+	30	8.00	FEL101 17+ 0.50 C	17	7.00	3.50	58655 24+ 2.00 P	7+	31	8.00	FEL102 23+ 0.50 O	23	5.00	18.00 101.50 5.64 --	
		58653 32+	19+	51	18.00	FEL103 10+ 1.00 D	6.00	6.00	6.00	58654 51+ 3.00 D	8+	59	18.00	FEL104 21+ 1.00 B	36	8.00	8.00	FEL105 35+ 1.00 B	35	8.00	8.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
1039171	NIKALJE SOHAN SAHEBRAO SIMALI 2023016401245972 (76)Navi Mumbai-(428)	58651 32+ 3.00 P	9+	41	12.00	FEC101 10+ 1.00 P	10	4.00	4.00	58652 19F 2.00 F	6+	25	0.00	FEL101 18+ 0.50 B	18	8.00	4.00	58655 24+ 2.00 P	8+	32	8.00	FEL102 18+ 0.50 B	18	4.00	18.00 -- -- -- --	
		58653 32+	8+	40	12.00	FEL103 10+ 1.00 D	6.00	6.00	6.00	58654 37+ 3.00 E	10+	47	15.00	FEL104 11+ 1.00 D	25	6.00	6.00	FEL105 20+ 1.00 P	20	4.00	4.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] HELD IN Winter 2025 Result Declaration Date: 29 Dec 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
1039172	SAWALE YASH BALAJI ARCHANA 2023016402505436 (76)Navi Mumbai-(428)	58651 21F	8+	29		FEC101 18+	18		58652 7F	8+	15		FEL101 14+	14		58655 24+	8+	32		FEL102 19+	19				Unsuccessful -- --				
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	2.00	F	0.00	0.00	0.50	D	6.00	3.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --			
		58653 32+	10+	42		FEL103 20+	37		58654 32+	9+	41		FEL104 20+	40		FEL105 40+	40												
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00								
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1039173	SAWANT HARSHAWARDHAN PRAMOD ASMITA 2023016402505131 (76)Navi Mumbai-(428)	58651 8F	8+	16		FEC101 19+	19		58652 24+	6+	30		FEL101 22+	22		58655 24+	8+	32		FEL102 21+	21				Unsuccessful -- --				
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 25F	8+	33		FEL103 20+	37		58654 33+	9+	42		FEL104 18+	37		FEL105 36+	36												
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	B	8.00	8.00								
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1039174	SHEWALE OMKAR ANAND RUPALI 2023016400729955 (76)Navi Mumbai-(428)	58651 26F	9+	35		FEC101 18+	18		58652 24+	7+	31		FEL101 12+	12		58655 24+	7+	31		FEL102 12+	12				Unsuccessful -- --				
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	E	5.00	2.50	2.00	P	4.00	8.00	0.50	E	5.00	2.50	-- --			
		58653 32+	9+	41		FEL103 18+	35		58654 32+	11+	43		FEL104 20+	41		FEL105 30+	30												
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	C	7.00	7.00								
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,\* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] HELD IN Winter 2025 Result Declaration Date:29 Dec 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
1039175	DAKSH DINESH SUVARNA RUHEENA 2023016400721936 (76)Navi Mumbai-(428)	58651 18F 3.00 F 0.00 0.00	10+	28		FEC101 19+ 19	19			58652 19F 2.00 F 0.00 0.00	8+	27		FEL101 21+ 21	21		58655 24+ 9+ 33	9+	33		FEL102 22+ 22	22	Unsuccessful -- --			
		58653 33+ 3.00 P 4.00 12.00	10+	43		FEL103 21+ 40 19+	40			58654 52+ 9+ 61	9+	61		FEL104 20+ 42 22+	42		FEL105 42+ 42	42	42		1.00 O 10.00 10.00	1.00 O 10.00 10.00				
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
1039176	VARKUTE KUNAL RAMESH RESHMA 2023016400731664 (76)Navi Mumbai-(428)	58651 18F 3.00 F 0.00 0.00	12+	30		FEC101 17+ 17	17			58652 24+ 8+ 32	8+	32		FEL101 21+ 21	21		58655 25+ 7+ 32	7+	32		FEL102 23+ 23	23	Unsuccessful -- --			
		58653 36+ 3.00 E 5.00 15.00	12+	48		FEL103 21+ 36 15+	36			58654 32+ 8+ 40	8+	40		FEL104 23+ 39 16+	39		FEL105 38+ 38	38	38		1.00 B 8.00 8.00	1.00 A 9.00 9.00	1.00 A 9.00 9.00			
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
1039177	VEKHANDE SHUBHAM CHANDRAKANT VATSALA 2023016400720964 (76)Navi Mumbai-(428)	58651 19F 3.00 F 0.00 0.00	8+	27		FEC101 19+ 19	19			58652 24+ 6+ 30	6+	30		FEL101 20+ 20	20		58655 24+ 6+ 30	6+	30		FEL102 21+ 21	21	Unsuccessful -- --			
		58653 32+ 3.00 P 4.00 12.00	10+	42		FEL103 19+ 38 19+	38			58654 32+ 12+ 44	12+	44		FEL104 23+ 45 22+	45		FEL105 39+ 39	39	39		1.00 A 9.00 9.00	1.00 O 10.00 10.00	1.00 A 9.00 9.00			
		Total Credit --				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] HELD IN Winter 2025 Result Declaration Date:29 Dec 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
1039178	GURDASANI ABHISHEK GOPE ANMOL 2023016400588754 (12) Panvel- (124)	58651 32E	8+	40		FEC101 16+	16		58652 24+	7+	31		FEL101 16+	16		58655 24+	8+	32		FEL102 16+	16				Unsuccessful -- --				
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --			
		58653 22F	10+	32		FEL103 14+	26		58654 50+	9+	59		FEL104 21+	37		FEL105 41+	41												
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1039179	MOKAL SHREYASH SANTOSH SHILPA 2022016402167137 (12) Panvel- (124)	58651 33+	9+	42		FEC101 17+	17		58652 14F	12+	26		FEL101 16+	16		58655 24+	9+	33		FEL102 20+	20				Unsuccessful -- --				
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 35E	10+	45		FEL103 17+	31		58654 18F	8+	26		FEL104 17+	32		FEL105 37+	37												
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00								
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1039180	MULJE SAHIL ANIL SONALI 2023016400626387 (12) Panvel- (124)	58651 32+	8+	40		FEC101 16+	16		58652 24	6+	30		FEL101 17+	17		58655 24+	6+	30		FEL102 20+	20				Successful 18.00 96.50				
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	5.36 --			
		58653 34+	15+	49		FEL103 19+	37		58654 32+	8+	40		FEL104 22+	43		FEL105 37+	37												
		3.00	E	5.00	15.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,\* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] HELD IN Winter 2025 Result Declaration Date: 29 Dec 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
1039181	PASWAN VISHAL RAMNIVAS INDU 2022016402166181 (12) Panvel- (124)	58651 32+ 3.00 P	9+ 4.00	41 12.00	1.00 C	17+ 7.00	17 7.00	144E 2.00 B	12+ 8.00	56 16.00	1.00 C	16+ 7.00	16 3.50	58655 27+ 2.00 E	7+ 5.00	34 10.00	1.00 A	19+ 9.00	19 4.50	1.00 A	19 4.50	1.00 A	19 4.50	1.00 A	19 4.50	Unsuccessful -- -- -- --
		58653 36+ 3.00 E	11+ 5.00	47 15.00	1.00 C	16+ 7.00	34 7.00	25F 3.00 F	9+ 0.00	34 0.00	1.00 B	19+ 8.00	37 8.00	58654 25F 1.00 A	9+ 9.00	34 9.00	39+ 9.00	39 9.00	39+ 9.00	39 9.00	39+ 9.00	39 9.00	39+ 9.00	39 9.00	39 9.00	
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
1039182	PURI OMPRAKASH ANANTA BEBITAI 2023016400600081 (12) Panvel- (124)	58651 32+ 3.00 P	8+ 4.00	40 12.00	1.00 C	16+ 7.00	16 7.00	29+ 2.00 E	6+ 5.00	35 10.00	1.00 B	18+ 8.00	18 4.00	58655 24+ 2.00 E	10+ 5.00	34 10.00	1.00 O	20+ 10.00	20 5.00	1.00 O	20 5.00	1.00 O	20 5.00	1.00 O	20 5.00	Successful 18.00 109.00 6.06 --
		58653 40 3.00 D	13+ 6.00	53 18.00	1.00 D	15+ 6.00	29 6.00	37+ 3.00 D	15+ 6.00	52 18.00	1.00 A	22+ 9.00	38 9.00	58654 37+ 1.00 O	15+ 10.00	52 10.00	40+ 10.00	40 10.00	40+ 10.00	40 10.00	40+ 10.00	40 10.00	40+ 10.00	40 10.00	40 10.00	
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
1039183	BHOIR DEVANG SANJAY VARSHA 2023016401239983 (12) Panvel- (692)	58651 32+ 3.00 P	11+ 4.00	43 12.00	1.00 O	21+ 10.00	21 10.00	17F 2.00 F	7+ 0.00	24 0.00	1.00 B	18+ 8.00	18 4.00	58655 24+ 2.00 P	8+ 4.00	32 8.00	1.00 D	14+ 6.00	14 3.00	1.00 D	14 3.00	1.00 D	14 3.00	1.00 D	14 3.00	Unsuccessful -- -- -- --
		58653 12F 3.00 F	16+ 0.00	28 0.00	1.00 C	19+ 7.00	31 7.00	22F 3.00 F	9+ 0.00	31 0.00	1.00 A	18+ 9.00	38 9.00	58654 22F 1.00 O	9+ 10.00	31 10.00	46+ 10.00	46 10.00	46+ 10.00	46 10.00	46+ 10.00	46 10.00	46+ 10.00	46 10.00	46 10.00	
		Total Credit --				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] HELD IN Winter 2025 Result Declaration Date:29 Dec 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
1039184	GAIKAR OM RAJESH MOHINI 2023016401236211 (12) Panvel- (692)	58651 32+	10+	42		FEC101 --	22+	22		58652 24+	6+	30		FEL101 --	18+	18		58655 24+	14+	38		FEL102 --	23+	23	Unsuccessful -- --	
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	D	6.00	12.00	0.50	O	10.00	5.00	-- --
		58653 32+	11+	43		FEL103 --	19+	41		58654 22F	11+	33		FEL104 --	20+	40		FEL105 --	41+	41						
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
1039185	GHARAT PARTH SHAILESH DARSHANA 2023016401241587 (12) Panvel- (692)	58651 6F	8+	14		FEC101 --	21+	21		58652 24+	6+	30		FEL101 --	17+	17		58655 24+	6+	30		FEL102 --	19+	19	Unsuccessful -- --	
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --
		58653 7F	10+	17		FEL103 --	20+	32		58654 32+	12+	44		FEL104 --	18+	39		FEL105 --	45+	45						
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
1039186	PATIL ADITYA BALKRISHNA MANJULA 2023016401236683 (12) Panvel- (692)	58651 14F	9+	23		FEC101 --	21+	21		58652 24+	6+	30		FEL101 --	16+	16		58655 24+	6+	30		FEL102 --	18+	18	Unsuccessful -- --	
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --
		58653 14F	10+	24		FEL103 --	17+	28		58654 19F	8+	27		FEL104 --	11+	23		FEL105 --	43+	43						
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	E	5.00	5.00	1.00	O	10.00	10.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Civil Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Winter 2025 Result Declaration Date:29 Dec 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
1039187	/ ANKITA UMESH PATIL SUCHITA 2023016401243644 (12) Panvel- (692)	58651 37+	10+	47		FEC101 --	22+	22		58652 AA	6+	6		FEL101 --	16+	16		58655 24+	10+	34		FEL102 --	20+	20		Unsuccessful -- --			
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --			
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1039188	HARSH SUDHIR PATIL PRATIMA 2023016401236996 (12) Panvel- (692)	58651 3F	8+	11		FEC101 --	20+	20		58652 24E	AA	24		FEL101 --	15+	15		58655 26+	10+	36		FEL102 --	18+	18		Unsuccessful -- --			
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	B	8.00	4.00	-- --			
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1039189	SAEESH SANDEEP SAWANT DEEPALI 2023016401176474 (12) Panvel- (692)	58651 AA	8+	8		FEC101 --	12+	12		58652 AA	6+	6		FEL101 --	15+	15		58655 AA	6+	6		FEL102 --	11+	11		Unsuccessful -- --			
		3.00	F	0.00	0.00	1.00	E	5.00	5.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	F	0.00	0.00	0.50	P	4.00	2.00	-- --			
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A ,@ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Civil Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Winter 2025 Result Declaration Date:29 Dec 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
1039190	VISHWAKARMA SONU RAMKISHOR MUNNADEVI 2023016401176497 (12) Panvel- (692)	58651  38+    3.00 E    58653  15F    3.00 F         	11+   5.00                   	49   15.00     0.00             	FEC101  ---    1.00 O                 	21+   10.00     7.00             	21   10.00     7.00             	58652  20F    2.00 F                   	6+   0.00     4.00             	26   0.00     12.00             	FEL101  ---    0.50 B                 	18+   8.00     7.00             	18   4.00     7.00             	58655  24E    2.00 P                 	6+   4.00     8.00             	30   8.00     8.00             	FEL102  ---    0.50 B                 	18+   8.00     8.00             	18   4.00     8.00             	Unsuccessful   -- --     -- --                   						
1039191	WAGHMARE PRATHMESH ARUN PRABHAVATI 2023016401236675 (12) Panvel- (692)	58651  32+    3.00 P    58653  24F    3.00 F           	8+   4.00                   	40   12.00     0.00             	FEC101  ---    1.00 O                 	21+   10.00     7.00             	21   10.00     7.00             	58652  24+    2.00 P                 	7+   4.00     8.00             	31   8.00     12.00             	FEL101  ---    0.50 C                 	17+   7.00     3.50             	17   3.50     3.50             	58655  25+    2.00 P                 	6+   4.00     8.00             	31   8.00     8.00             	FEL102  ---    0.50 O                 	20+   10.00     5.00             	20   5.00     5.00             	Unsuccessful   -- --     -- --                 						
1039192	AARYESH KUMAR NUTAN 2022016402308942 (12) Panvel- (822)	58651  41+    3.00 E    58653  32+    3.00 P           	8+   5.00                   	49   15.00     12.00             	FEC101  ---    1.00 P                 	11+   4.00     7.00             	11   4.00     7.00             	58652  38    2.00 C                 	7+   7.00     14.00             	45   14.00     14.00             	FEL101  ---    0.50 B                 	18+   8.00     4.00             	18   4.00     4.00             	58655  31+    2.00 E                 	6+   5.00     10.00             	37   10.00     10.00             	FEL102  ---    0.50 A                 	19+   9.00     4.50             	19   4.50     4.50             	Successful   18.00 95.50     5.31 --                   						

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] HELD IN Winter 2025 Result Declaration Date: 29 Dec 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
1039193	MHATRE AMEY ANIL ANISHA 2023016402421241 (12) Panvel- (822)	58651 7F	8+	15		FEC101 --	19+	19		58652 5F	6+	11		FEL101 --	17+	17		58655 31+	8+	39		FEL102 --	16+	16		Unsuccessful -- --
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	D	6.00	12.00	0.50	C	7.00	3.50	-- --
		58653 7F	8+	15		FEL103 --	17+	33		58654 32+	11+	43		FEL104 --	11+	31		FEL105 --	37+	37						
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
1039194	/ MHATRE SHRUTI NILESH JYOTI 2023016402401913 (12) Panvel- (822)	58651 1F	8+	9		FEC101 --	17+	17		58652 28+	8+	36		FEL101 --	18+	18		58655 25+	8+	33		FEL102 --	15+	15		Unsuccessful -- --
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	-- --
		58653 45+	8+	53		FEL103 --	11+	21		58654 32+	8+	40		FEL104 --	14+	28		FEL105 --	38+	38						
		3.00	D	6.00	18.00	1.00	P	4.00	4.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	A	9.00	9.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
1039195	TRIMUKHE NIRANJAN DATTATREYA GEETA 2022016402309091 (12) Panvel- (822)	58651 12F	8+	20		FEC101 --	10+	10		58652 33+	6+	39		FEL101 --	14+	14		58655 24+	6+	30		FEL102 --	18+	18		Unsuccessful -- --
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	D	6.00	12.00	0.50	D	6.00	3.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --
		58653 32+	8+	40		FEL103 --	21+	41		58654 53+	8+	61		FEL104 --	17+	33		FEL105 --	34+	34						
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	C	7.00	21.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] HELD IN Winter 2025 Result Declaration Date: 29 Dec 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
1039196	KHAN AZAM ISHTAYAK HSEENA 2023016401234421 (12) Panvel- (944)	58651 14F	15E	29	29	FEC101 ---	21+	21	21	58652 24E	12E	36	36	FEL101 ---	19+	19	19	19	58655 24+	6+	30	30	FEL102 ---	19+	19	19	19	Unsuccessful -- --	
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	A	9.00	4.50	4.50	2.00	P	4.00	8.00	8.00	0.50	A	9.00	4.50	-- --	
		58653 36+	20+	56	56	FEL103 ---	22+	43	43	58654 7F	10+	17	17	FEL104 ---	20+	35	35	35	FEL105 ---	34+	34	34	34	34	34	34	34		
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	8.00	1.00	C	7.00	7.00	7.00	7.00	7.00	7.00	7.00		
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1039197	SHAIKH MOHAMMAD TALHA MOHD NASIR - ZILLE HUMA 2023016401201281 (12) Panvel- (944)	58651 11F	10+	21	21	FEC101 ---	18+	18	18	58652 25E	7+	32	32	FEL101 ---	16+	16	16	16	58655 24+	9+	33	33	FEL102 ---	16+	16	16	16	Unsuccessful -- --	
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	3.50	2.00	P	4.00	8.00	8.00	0.50	C	7.00	3.50	-- --	
		58653 40+	11+	51	51	FEL103 ---	22+	43	43	58654 17F	8+	25	25	FEL104 ---	21+	37	37	37	FEL105 ---	27+	27	27	27	27	27	27	27		
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	8.00	1.00	D	6.00	6.00	6.00	6.00	6.00	6.00	6.00		
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1039198	SHAIKH RASHID DILSHAD AHMED FARHANA 2023016401243497 (12) Panvel- (944)	58651 35+	15E	50	50	FEC101 ---	19+	19	19	58652 24+	7+	31	31	FEL101 ---	13+	13	13	13	58655 27+	11+	38	38	FEL102 ---	16+	16	16	16	Unsuccessful -- --	
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	3.00	2.00	D	6.00	12.00	12.00	0.50	C	7.00	3.50	-- --	
		58653 32+	9+	41	41	FEL103 ---	20+	39	39	58654 18F	8+	26	26	FEL104 ---	19+	34	34	34	FEL105 ---	32+	32	32	32	32	32	32	32		
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	7.00	1.00	C	7.00	7.00	7.00	7.00	7.00	7.00	7.00		
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, ---Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] HELD IN Winter 2025 Result Declaration Date: 29 Dec 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
1039199	TAMBE SAEEM HASHMAT HASEENA TAMBE 2023016401243443 (12) Panvel - (944)	58651 45	11+	56		FEC101 --	22+	22		58652 26+	6+	32		FEL101 --	17+	17		58655 25+	10+	35		FEL102 --	20+	20		Successful 18.00 105.50 5.86 --			
		3.00	D	6.00	18.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00				
		58653 32+	9+	41		FEL103 --	22+	43		58654 32+	8+	40		FEL104 --	22+	37		FEL105 --	39+	39									
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	A	9.00	9.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
1039200	BHOIR AKASH ANANTA RANJANA 2022016402309721 (30) Shahapur - (751)	58651 33+	8+	41		FEC101 --	18+	18		58652 31	6+	37		FEL101 --	14+	14		58655 35+	11+	46		FEL102 --	21+	21		Successful 18.00 103.00 5.72 --			
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	E	5.00	10.00	0.50	D	6.00	3.00	2.00	C	7.00	14.00	0.50	O	10.00	5.00				
		58653 32+	9+	41		FEL103 --	17+	33		58654 44+	8+	52		FEL104 --	16+	30		FEL105 --	34+	34									
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
1039201	TUSHAR CHANDRAKANT SHELWALE ARUNA 2023016402346245 (30) Shahapur - (751)	58651 33+	8+	41		FEC101 --	19+	19		58652 33	10+	43		FEL101 --	18+	18		58655 24+	6+	30		FEL102 --	17+	17		Successful 18.00 99.50 5.53 --			
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	D	6.00	12.00	0.50	B	8.00	4.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50				
		58653 38+	14+	52		FEL103 --	16+	32		58654 32+	8+	40		FEL104 --	13+	27		FEL105 --	36+	36									
		3.00	D	6.00	18.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	B	8.00	8.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] HELD IN Winter 2025 Result Declaration Date:29 Dec 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT				
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	C*G	SGPI	GRADE	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11												
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G					
1039202	/ BHOYE MANSI SANJAY RAJANI 2023016400689712 (30)Shahapur-(945)	58651 34+	8+	42		FEC101 19+	19			58652 24+	10+	34		FEL101 21+	21		58655 13F	8+	21		FEL102 23+	23						Unsuccessful		
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00			--	--	
		58653 45+	12+	57		FEL103 20+	39			58654 37+	11+	48		FEL104 20+	41		FEL105 42+	42												
		3.00	D	6.00	18.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00									
		Total Credit --				FINAL CGPI --				FINAL GRADE --																				
1039203	SHAIKH MOMHAMMED AAFAN ASLAM NASREEN 2023016400689766 (30)Shahapur-(945)	58651 34+	8+	42		FEC101 17+	17			58652 13F	6+	19		FEL101 20+	20		58655 10F	6+	16		FEL102 17+	17							Unsuccessful	
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50			--	--	
		58653 33+	8+	41		FEL103 17+	34			58654 32+	8+	40		FEL104 18+	36		FEL105 32+	32												
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	B	8.00	8.00	1.00	C	7.00	7.00									
		Total Credit --				FINAL CGPI --				FINAL GRADE --																				
1039204	CHAVAN ADITYA ANANT VAISHALI 2022016402085687 (62)Tala-(946)	58651 33+	9+	42		FEC101 18+	18			58652 24+	7+	31		FEL101 22+	22		58655 26+	9+	35		FEL102 22+	22							Successful	
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00			6.00	--	
		58653 37+	8+	45		FEL103 16+	29			58654 53	13+	66		FEL104 19+	40		FEL105 37+	37												
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	3.00	C	7.00	21.00	1.00	O	10.00	10.00	1.00	B	8.00	8.00									
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																				

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,\* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] HELD IN Winter 2025 Result Declaration Date:29 Dec 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE	
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11									
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G		
1039205	DAKE RAJRATNA NARAYAN SATYABHAMA DAKE 2023016402102886 (5)Thane-(237)	58651 32+ 3.00 E	13+ 45 5.00	15.00 45 15.00	FEC101 AA 1.00 F	AA AA 0.00 AB	58652 1F 2.00 F	6+ 7 0.00 0.00	7 7 0.00 0.00	FEL101 12+ 0.50 E	12 12 5.00 2.50	58655 3F 2.00 F	6+ 9 0.00 0.00	9 9 0.00 0.00	FEL102 11+ 0.50 P	11 11 4.00 2.00	11 11 2.00	Unsuccessful -- -- -- --									
		58653 10F 3.00 F	11+ 21 0.00 0.00	21 21 6.00 6.00	FEL103 15+ 1.00 D	29 29 6.00 6.00	58654 1F 3.00 F	11+ 12 0.00 0.00	12 12 0.00 0.00	FEL104 12+ 1.00 D	25 25 6.00 6.00	FEL105 25+ 1.00 D	25 25 6.00 6.00	25 25 6.00 6.00													
		Total Credit --				FINAL CGPI --				FINAL GRADE --																	
1039206	GAIKAR ARYAN SANDIP YOJANA 2023016402095346 (5)Thane-(237)	58651 43+ 3.00 D	8+ 51 6.00	18.00 51 18.00	FEC101 21+ 1.00 O	21 21 10.00 10.00	58652 24+ 2.00 P	7+ 31 4.00 8.00	31 31 8.00	FEL101 20+ 0.50 O	20 20 10.00 5.00	58655 16F 2.00 F	7+ 23 0.00 0.00	23 23 0.00 0.00	FEL102 21+ 0.50 O	21 21 10.00 5.00	21 21 5.00	Unsuccessful -- -- -- --									
		58653 32+ 3.00 P	8+ 40 4.00	12.00 40 12.00	FEL103 18+ 1.00 C	33 33 7.00 7.00	58654 47+ 3.00 C	15+ 62 7.00 21.00	62 62 21.00	FEL104 21+ 1.00 O	41 41 10.00 10.00	FEL105 41+ 1.00 O	41 41 10.00 10.00	41 41 10.00 10.00													
		Total Credit --				FINAL CGPI --				FINAL GRADE --																	
1039207	JAYDEEP KISAN GHADGE AARTI 2023016402091221 (5)Thane-(237)	58651 32+ 3.00 P	8+ 40 4.00	12.00 40 12.00	FEC101 17+ 1.00 C	17 17 7.00 7.00	58652 24+ 2.00 P	6+ 30 4.00 8.00	30 30 8.00	FEL101 13+ 0.50 D	13 13 6.00 3.00	58655 24+ 2.00 P	6+ 30 4.00 8.00	30 30 8.00	FEL102 11+ 0.50 P	11 11 4.00 2.00	11 11 2.00	Unsuccessful -- -- -- --									
		58653 33+ 3.00 P	8+ 41 4.00	12.00 41 12.00	FEL103 13+ 1.00 C	31 31 7.00 7.00	58654 15F 3.00 F	12+ 27 0.00 0.00	27 27 0.00 0.00	FEL104 13+ 1.00 C	30 30 7.00 7.00	FEL105 41+ 1.00 O	41 41 10.00 10.00	41 41 10.00 10.00													
		Total Credit --				FINAL CGPI --				FINAL GRADE --																	

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,\* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] HELD IN Winter 2025 Result Declaration Date:29 Dec 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
1039208	KARN SURAJ ASHOK MANJU 2023016402103015 (5)Thane-(237)	58651 33 3.00 P	8+	41	12.00	FEC101 16+ 1.00 C	16	7.00	7.00	58652 24+ 2.00 P	6+	30	8.00	FEL101 10+ 0.50 P	10	2.00	58655 24+ 2.00 P	6+	30	8.00	FEL102 16+ 0.50 C	16	3.50	4.81	--	Successful 18.00 86.50			
		58653 33+ 3.00 P	8+	41	12.00	FEL103 16+ 1.00 D	28	6.00	6.00	58654 32+ 3.00 P	8+	40	12.00	FEL104 15+ 1.00 D	29	6.00	58655 42+ 1.00 O	42	10.00	10.00									
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
1039209	PARAB KASTURI LAWU DEEPTI 2023016402118212 (5)Thane-(237)	58651 19F 3.00 F	8+	27	0.00	FEC101 18+ 1.00 B	18	8.00	8.00	58652 25+ 2.00 P	8+	33	8.00	FEL101 18+ 0.50 B	18	4.00	58655 24+ 2.00 P	7+	31	8.00	FEL102 21+ 0.50 O	21	5.00	--	--	Unsuccessful -- --			
		58653 32+ 3.00 P	8+	40	12.00	FEL103 21+ 1.00 C	31	7.00	7.00	58654 32+ 3.00 E	13+	45	15.00	FEL104 20+ 1.00 A	38	9.00	58655 41+ 1.00 O	41	10.00	10.00									
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1039210	ARMAAN RAIS PATEL MARIYAM 2023016402118193 (5)Thane-(237)	58651 18F 3.00 F	12+	30	0.00	FEC101 17+ 1.00 C	17	7.00	7.00	58652 24E 2.00 P	9+	33	8.00	FEL101 18+ 0.50 B	18	4.00	58655 24+ 2.00 P	6+	30	8.00	FEL102 20+ 0.50 O	20	5.00	--	--	Unsuccessful -- --			
		58653 32+ 3.00 P	8+	40	12.00	FEL103 17+ 1.00 B	35	8.00	8.00	58654 33+ 3.00 P	8+	41	12.00	FEL104 17+ 1.00 C	30	7.00	58655 42+ 1.00 O	42	10.00	10.00									
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,\* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS(Civil Engineering)- F.E. C-Scheme - Sem I [1T01831] HELD IN Winter 2025 Result Declaration Date:29 Dec 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
1039211	PATIL AMRUT ARUN GETANJALI 2022016402231584 (5)Thane-(237)	58651 55+	8+	63		FEC101 18+	18			58652 24+	6+	30		FEL101 19+	19		58655 27+	6+	33		FEL102 21+	21			Unsuccessful -- --				
		3.00	C	7.00	21.00	1.00	B	8.00	8.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 4F	8+	12		FEL103 22+	39			58654 27F	8+	35		FEL104 20+	32		FEL105 40+	40											
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	3.00	F	0.00	0.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1039212	SANAP PRITESH RAJARAM SUMAN 202201640228303 (5)Thane-(237)	58651 15F	8+	23		FEC101 19+	19			58652 24+	6+	30		FEL101 19+	19		58655 24+	7+	31		FEL102 21+	21			Unsuccessful -- --				
		3.00	F	0.00	0.00	1.00	A	9.00	9.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --			
		58653 11F	8+	19		FEL103 13+	31			58654 34+	8+	42		FEL104 16+	28		FEL105 35+	35											
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	B	8.00	8.00								
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			
1039213	SAWANT SMITH AJAY ANISHA 2023016402098406 (5)Thane-(237)	58651 53	12+	65		FEC101 20+	20			58652 24+	9+	33		FEL101 16+	16		58655 24+	8+	32		FEL102 19+	19			Successful 18.00 110.00				
		3.00	C	7.00	21.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	A	9.00	4.50	6.11 --			
		58653 32+	12+	44		FEL103 22+	34			58654 43+	11+	54		FEL104 18+	35		FEL105 42+	42											
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	D	6.00	18.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,\* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] HELD IN Winter 2025 Result Declaration Date: 29 Dec 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
1039214	THAKUR PRAJWAL JITENDRA SHARAYU 2023016402108902 (5)Thane-(237)	58651 34E	10+	44	100.00	FEC101 21+	21	21	100.00	58652 25+	6+	31	100.00	FEL101 17+	17	17	100.00	58655 28+	7+	35	100.00	FEL102 21+	21	21	100.00	Unsuccessful -- --
		3.00	P	4.00	12.00	1.00	O	10.00	10.00	2.00	P	4.00	8.00	0.50	C	7.00	3.50	2.00	E	5.00	10.00	0.50	O	10.00	5.00	-- --
		58653 12F	8+	20	100.00	FEL103 19+	32	32	100.00	58654 36+	8+	44	100.00	FEL104 18+	32	32	100.00	FEL105 42+	42	42	100.00					
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
1039215	PATIL SAIYOG HEMANT SONALI 2023016402415205 (5)Thane-(995)	58651 33+	15+	48	100.00	FEC101 12+	12	12	100.00	58652 24+	8+	32	100.00	FEL101 18+	18	18	100.00	58655 29+	8+	37	100.00	FEL102 18+	18	18	100.00	Successful 18.00 90.00
		3.00	E	5.00	15.00	1.00	E	5.00	5.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	5.00 --
		58653 32+	8+	40	100.00	FEL103 14+	29	29	100.00	58654 32	8+	40	100.00	FEL104 17+	33	33	100.00	FEL105 34+	34	34	100.00					
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00					
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																
1039216	ZINGADE YASH RAJESH VINITA 2023016402415236 (5)Thane-(995)	58651 24F	13+	37	100.00	FEC101 16+	16	16	100.00	58652 25+	7+	32	100.00	FEL101 18+	18	18	100.00	58655 25E	12+	37	100.00	FEL102 18+	18	18	100.00	Unsuccessful -- --
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	B	8.00	4.00	2.00	E	5.00	10.00	0.50	B	8.00	4.00	-- --
		58653 40+	9+	49	100.00	FEL103 16+	34	34	100.00	58654 32+	11+	43	100.00	FEL104 15+	31	31	100.00	FEL105 22+	22	22	100.00					
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	P	4.00	4.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL-NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] HELD IN Winter 2025 Result Declaration Date: 29 Dec 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
1039217	DOOND ADITYA SHASHIKANT ASHWINI 2023016401250482 (5)Thane-(996)	58651 8F	12+	20		FEC101 17+	17			58652 9F	6+	15		FEL101 17+	17		58655 24+	7+	31		FEL102 19+	19			Unsuccessful -- --	
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	A	9.00	4.50	-- --
		58653 32+	8+	40		FEL103 17+	37			58654 33+	9+	42		FEL104 19+	32		FEL105 31+	31								
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	C	7.00	7.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
1039218	MHATRE JIGNESH JAGDISH SHOBHA 2023016401215636 (5)Thane-(996)	58651 39+	10+	49		FEC101 14+	14			58652 14F	6+	20		FEL101 15+	15		58655 24+	7+	31		FEL102 18+	18			Unsuccessful -- --	
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --
		58653 32+	8+	40		FEL103 19+	37			58654 33+	14+	47		FEL104 19+	34		FEL105 38+	38								
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	E	5.00	15.00	1.00	C	7.00	7.00	1.00	A	9.00	9.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
1039219	PUJARI MONISH NIGANNA INDRABAI PUJARI 2023016401215652 (5)Thane-(996)	58651 32+	9+	41		FEC101 13+	13			58652 1F	6+	7		FEL101 13+	13		58655 5F	6+	11		FEL102 15+	15			Unsuccessful -- --	
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	2.00	F	0.00	0.00	0.50	D	6.00	3.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	-- --
		58653 32+	8+	40		FEL103 18+	32			58654 32+	8+	40		FEL104 15+	30		FEL105 35+	35								
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	B	8.00	8.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] HELD IN Winter 2025 Result Declaration Date: 29 Dec 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
1039220	TALWALKAR YASH RAJESH VANDANA 2023016401215547 (5)Thane-(996)	58651 34+	12+	46	100	FEC101 --	20+	20	100	58652 9F	6+	15	75	FEL101 --	20+	20	100	58655 24+	7+	31	75	FEL102 --	21+	21	100	Unsuccessful -- --
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 32+	8+	40	100	FEL103 --	22+	39	100	58654 35+	10+	45	75	FEL104 --	22+	40	100	FEL105 --	38+	38	100					
		3.00	P	4.00	12.00	1.00	A	9.00	9.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	A	9.00	9.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
1039221	WAGH MAYUR SATISH RESHMA 2023016401215667 (5)Thane-(996)	58651 39+	8+	47	100	FEC101 --	13+	13	100	58652 24+	6+	30	75	FEL101 --	14+	14	100	58655 28+	6+	34	75	FEL102 --	12+	12	100	Unsuccessful -- --
		3.00	E	5.00	15.00	1.00	D	6.00	6.00	2.00	P	4.00	8.00	0.50	D	6.00	3.00	2.00	E	5.00	10.00	0.50	E	5.00	2.50	-- --
		58653 32+	8+	40	100	FEL103 --	14+	28	100	58654 3F	8+	11	75	FEL104 --	19+	36	100	FEL105 --	25+	25	100					
		3.00	P	4.00	12.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	D	6.00	6.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
1039222	CHAUHAN DEEP NITUL ARTI 2023016401209164 (22)Vasai-(466)	58651 6F	8+	14	100	FEC101 --	10+	10	100	58652 5F	8+	13	75	FEL101 --	17+	17	100	58655 24+	8+	32	75	FEL102 --	18+	18	100	Unsuccessful -- --
		3.00	F	0.00	0.00	1.00	P	4.00	4.00	2.00	F	0.00	0.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --
		58653 20F	8+	28	100	FEL103 --	17+	28	100	58654 8F	8+	16	75	FEL104 --	21+	41	100	FEL105 --	44+	44	100					
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] HELD IN Winter 2025 Result Declaration Date: 29 Dec 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11								
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	
1039223	CHORGHE MRUNAL NAGESH JAYASHREE 2023016401246453 (22)Vasai-(466)	58651 37+	8+	45		FEC101 11+	11			58652 24+	6+	30		FEL101 19+	19		58655 24+	7+	31		FEL102 18+	18		Unsuccessful -- --		
		3.00	E	5.00	15.00	1.00	P	4.00	4.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	B	8.00	4.00	-- --
		58653 19F	9+	28		FEL103 19+	29			58654 14F	8+	22		FEL104 21+	40		FEL105 44+	44								
		3.00	F	0.00	0.00	1.00	D	6.00	6.00	3.00	F	0.00	0.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
1039224	PATIL CHIRAG SANTOSH SAMIKSHA 2023016401231902 (22)Vasai-(466)	58651 1F	10+	11		FEC101 18+	18			58652 36+	7+	43		FEL101 19+	19		58655 24+	6+	30		FEL102 20+	20		Unsuccessful -- --		
		3.00	F	0.00	0.00	1.00	B	8.00	8.00	2.00	D	6.00	12.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 32+	8+	40		FEL103 19+	32			58654 32+	16+	48		FEL104 21+	41		FEL105 46+	46								
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	3.00	E	5.00	15.00	1.00	O	10.00	10.00	1.00	O	10.00	10.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																
1039225	PATIL GIRISH SANTOSH SAKSHI 2022016402069762 (22)Vasai-(466)	58651 38E	9+	47		FEC101 19+	19			58652 28+	6+	34		FEL101 20+	20		58655 24+	6+	30		FEL102 21+	21		Unsuccessful -- --		
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	O	10.00	5.00	-- --
		58653 17F	10+	27		FEL103 21+	40			58654 16F	8+	24		FEL104 18+	37		FEL105 41+	41								
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	3.00	F	0.00	0.00	1.00	B	8.00	8.00	1.00	O	10.00	10.00					
		Total Credit --				FINAL CGPI --				FINAL GRADE --																

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL-NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] HELD IN Winter 2025 Result Declaration Date:29 Dec 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT CR C*G SGPI GRADE			
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G				
CENTRE-COLLEGE		PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11											
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G
1039226	VISHE ANISH KISHOR KALPANA 2022016402069487 (22)Vasai-(466)	58651 32+	8+	40		FEC101 16+	16			58652 40+	6+	46		FEL101 17+	17		58655 26+	7+	33		FEL102 15+	15		18.00	98.00	5.44	--		
		3.00	P	4.00	12.00	1.00	C	7.00	7.00	2.00	C	7.00	14.00	0.50	C	7.00	3.50	2.00	P	4.00	8.00	0.50	C	7.00	3.50				
		58653 37	8+	45		FEL103 15+	30			58654 32+	8+	40		FEL104 13+	27		FEL105 40+	40											
		3.00	E	5.00	15.00	1.00	C	7.00	7.00	3.00	P	4.00	12.00	1.00	D	6.00	6.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
1039227	AYARE AYUSH AJAY PURVA 2023016401226696 (22)Vasai-(823)	58651 36	12+	48		FEC101 21+	21			58652 24+	11+	35		FEL101 24+	24		58655 25+	7+	32		FEL102 19+	19		18.00	107.50	5.97	--		
		3.00	E	5.00	15.00	1.00	O	10.00	10.00	2.00	E	5.00	10.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50				
		58653 32+	14+	46		FEL103 22+	38			58654 32+	11+	43		FEL104 22+	38		FEL105 43+	43											
		3.00	E	5.00	15.00	1.00	A	9.00	9.00	3.00	P	4.00	12.00	1.00	A	9.00	9.00	1.00	O	10.00	10.00								
		Total Credit 18.00				FINAL CGPI --				FINAL GRADE --																			
1039228	PADVALE PUNIT KIRAN KALYANI 2022016402281831 (22)Vasai-(823)	58651 15F	9+	24		FEC101 15+	15			58652 25+	7+	32		FEL101 19+	19		58655 25+	6+	31		FEL102 19+	19		--	--	--	--		
		3.00	F	0.00	0.00	1.00	C	7.00	7.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50	2.00	P	4.00	8.00	0.50	A	9.00	4.50				
		58653 32E	11+	43		FEL103 20+	37			58654 32+	9+	41		FEL104 17+	33		FEL105 41+	41											
		3.00	P	4.00	12.00	1.00	B	8.00	8.00	3.00	P	4.00	12.00	1.00	C	7.00	7.00	1.00	O	10.00	10.00								
		Total Credit --				FINAL CGPI --				FINAL GRADE --																			

/ - FEMALE, # - 0.229A,@ - 0.5042A/O.5043A/O.5044A,\* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL,P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00



University of Mumbai, Mumbai

OFFICE REGISTER OF THE B.E. (with credits) - Regular - CBCS (Civil Engineering) - F.E. C-Scheme - Sem I [1T01831] HELD IN Winter 2025 Result Declaration Date: 29 Dec 2025

58651-Engineering Mathematics-I: ThUA 80/32 ThCA 20/8 100/0 | 58652-Engineering Physics-I: ThUA 60/24 ThCA 15/6 75/0 | 58655-Engineering Chemistry-I: ThUA 60/24 ThCA 15/6 75/0 |  
 58653-Engineering Mechanics: ThUA 80/32 ThCA 20/8 100/0 | 58654-Basic Electrical Engineering: ThUA 80/32 ThCA 20/8 100/0 | FEL101-Engineering Physics-I (TW): TwCA 25/10 25/0 |  
 FEL102-Engineering Chemistry-I (TW): TwCA 25/10 25/0 | FEL103-Engineering Mechanics (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 | FEL104-Basic Electrical Engineering (TW/OR/PR): ORCA 25/10 TwCA 25/10 50/0 |  
 FEL105-Basic Workshop Practice-I: TwCA 50/20 50/0 | FEC101-Engineering Mathematics-I Term Work: TwCA 25/10 25/0 |

SEAT NO.	NAME OF THE CANDIDATE Mother Name PRN.	PAPER 1				PAPER 2				PAPER 3				PAPER 4				PAPER 5				PAPER 6				RESULT						
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GP	CGPI	GRADE			
	CENTRE-COLLEGE	PAPER 7				PAPER 8				PAPER 9				PAPER 10				PAPER 11														
		CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G	CR	GR	GP	C*G							
1039229	SWARAJ NARESH THAKARE NIKITA 2023016402302084 (26)Wada-(991)	58651 AA	8+	8		FEC101 --	20+	20		58652 AA	9+	9		FEL101 --	21+	21		58655 24+	9+	33		FEL102 --	19+	19						Unsuccessful	--	--
		3.00	F	0.00	0.00	1.00	O	10.00	10.00	2.00	F	0.00	0.00	0.50	O	10.00	5.00	2.00	P	4.00	8.00	0.50	A	9.00	4.50			--	--			
		58653 18F	9+	27		FEL103 --	12+	24		58654 4F	9+	13		FEL104 --	10+	28		FEL105 --	38+	38												
		3.00	F	0.00	0.00	1.00	E	5.00	5.00	3.00	F	0.00	0.00	1.00	D	6.00	6.00	1.00	A	9.00	9.00											
		Total Credit --				FINAL CGPI --				FINAL GRADE --																						

/ - FEMALE, # - 0.229A, @ - 0.5042A/O.5043A/O.5044A, \* - 5045A, RR-RESERVED, --:Fails in Theory or Practical, RPV - PROVISIONAL Eligible, RCC - 0.5050, AB - ABSENT, F - UNSUCCESSFUL, P - SUCCESSFUL;  
 NULL=NULL & VOID, G:Grade C\*G:Gradepoints C:credits CP:credit points aCG:sum of product of credits & grades, Internal Marks are Provisional as per R.8668  
 aC:sum of credit points GPA: aCG/aC  
 MARKS : 0 to 39.99 40 to 44.99 45 to 49.99 50 to 59.99 60 to 69.99 70 to 74.99 75 to 79.99 80 to 100  
 GRADE : F P E D C B A O  
 GRADE POINT : 0.00 4.00 5.00 6.00 7.00 8.00 9.00 10.00

